
5426 5426.5 5427 5427.5 5428
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

4.5−

4−

3.5−

3−

2.5−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta
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_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

6097

6097.5

6098

6098.5

6099

6099.5

6100

6100.5

6101

ru
n

run:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

0

0.5

1

1.5

2

2.5

3

se
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en
t

segment:cyclenum {run == 6099}



5426 5426.5 5427 5427.5 5428
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69.5−

69−

68.5−

68−

67.5−

us
l_

1X
usl_1X:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

35.5

36

36.5

37

37.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

39.8−

39.6−

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

us
l_

12
X

usl_12X:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

6097

6097.5

6098

6098.5

6099

6099.5

6100

6100.5

6101

ru
n

run:cyclenum {run == 6099}



5426 5426.5 5427 5427.5 5428
cyclenum

125−

124.5−

124−

123.5−

123−us
r_

1X

usr_1X:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

216.5

217

217.5

218

218.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

13.5

14

14.5

15

15.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

43.8−

43.6−

43.4−

43.2−

43−

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

us
r_

12
X

usr_12X:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

6097

6097.5

6098

6098.5

6099

6099.5

6100

6100.5

6101

ru
n

run:cyclenum {run == 6099}



5426 5426.5 5427 5427.5 5428
cyclenum

18632.5

18633

18633.5

18634

18634.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

3153.5

3154

3154.5

3155

3155.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

4533

4533.5

4534

4534.5

4535

us
l_

co
il4

usl_coil4:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

323

323.5

324

324.5

325

us
l_

co
il6

usl_coil6:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

6022.5

6023

6023.5

6024

6024.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

6097

6097.5

6098

6098.5

6099

6099.5

6100

6100.5

6101

ru
n

run:cyclenum {run == 6099}



5426 5426.5 5427 5427.5 5428
cyclenum

15805.8−

15805.6−

15805.4−

15805.2−

15805−

15804.8−

15804.6−

15804.4−

15804.2−

15804−

15803.8−

15803.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

2636.8−

2636.6−

2636.4−

2636.2−

2636−

2635.8−

2635.6−

2635.4−

2635.2−

2635−

2634.8−

2634.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

5180

5180.5

5181

5181.5

5182

us
r_

co
il4

usr_coil4:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

33568

33568.5

33569

33569.5

33570

us
r_

co
il7

usr_coil7:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

6097

6097.5

6098

6098.5

6099

6099.5

6100

6100.5

6101
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n

run:cyclenum {run == 6099}



5426 5426.5 5427 5427.5 5428
cyclenum

289−

288.5−

288−

287.5−

287−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

22−

21.5−

21−

20.5−

20−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

318

318.5

319

319.5

320

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

284.4−

284.2−

284−

283.8−

283.6−

283.4−

283.2−

283−

282.8−

282.6−

282.4−

282.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

41−

40.5−

40−

39.5−

39−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

237

237.2

237.4

237.6

237.8

238

238.2

238.4

238.6

238.8

239

239.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6099}



5426 5426.5 5427 5427.5 5428
cyclenum

201.5

202

202.5

203

203.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

67.5

68

68.5

69

69.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6099}

5426 5426.5 5427 5427.5 5428
cyclenum

20.5−

20−

19.5−

19−

18.5−

4a
Y

_c
oi
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4aY_coil7:cyclenum {run == 6099}
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cyclenum

212.5

213

213.5

214

214.5

4e
Y
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oi
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4eY_coil4:cyclenum {run == 6099}
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15.2

15.4

15.6

15.8
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16.2

16.4
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16.8

17
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4e
Y
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4eY_coil6:cyclenum {run == 6099}
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18.8−

18.6−

18.4−

18.2−

18−

17.8−

17.6−

17.4−

17.2−

17−

16.8−

16.6−

4e
Y
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oi
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4eY_coil7:cyclenum {run == 6099}
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238.5−
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X
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12X_coil1:cyclenum {run == 6099}
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81.5−

81−

80.5−

80−

79.5−12
X
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oi
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12X_coil3:cyclenum {run == 6099}
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7.5−

7−
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6−
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X
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12X_coil4:cyclenum {run == 6099}
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5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8
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X
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12X_coil6:cyclenum {run == 6099}
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12
X

_c
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12X_coil7:cyclenum {run == 6099}
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cyclenum
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n

run:cyclenum {run == 6099}
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